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(7) ‘T 3Tk vata fHaer it g fowedn Tereafiied S e SRATETET ThTiET ST aderd
Aol It I WIEMEIE & Agiacie! 3cal UTel TRudTd VR ATRId.

(8) UeheT Aigfareielt Ical YrgT Sgerdl UK ATEHd.
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01.

02.

03.

04.

0s.

Section - 1

English
Fill in the blank by using comparative form of the verb.
My car is quite slow and I want to get a (fast) one.
(1) faster (2) fastest (3) more fast (4) most fast

Choose two correct modal auxiliaries showing possibility in the following

sentence.
Rohan write in his notebook.
(1) could (2) must (3) can (4) should

Look at the following slogan and choose the correct option for the given
question.

‘Each one-teach one’

This slogan is used for

(1) Literacy awareness programme (2) Green revolution programme

(3) Health awareness programme (4) Addiction awareness programme

Read the following sentence and choose the correct alternative.

The door by the teacher.
(1) 1s being shutting (2) were being shut
(3) are being shut (4) 1s being shut
Complete the web of adjective for the word given. Choose any one correct
option.
Clear
i
? Sun golden
v
Orange
(1) bright (2) dim (3) black (4) dull

SPACE FOR ROUGH WORK
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Instruction for Q. 06 and Q. 07 -

06.

07.

08.

09.

Read the news and choose the correct option.

[: Seminar on Diabetes :]

On 29t September, on the occasion of World Heart Day, New Vision
School. Mumbai organized an interactive seminar for the parents of New Vision
School. Dr. Sanjay Gupta, the Senior diabetologist was the main speaker for it.
Approximately 152 parents attended the seminar. This seminar was organized
by Doctors' Medical Association along with school.

Choose any one correct option for the given question.
The seminar was organized for .

(1) all (2) teachers
(3) students (4) parents

What kind of seminar was organized by the school?
(1) recorded (2) wvocal
(3) interactive (4) written

Choose the correct option from the following which shows the pronouns.
Sun Wakang is brave and intelligent. But he is also a trickster. His body is
as hard as diamond.

(1) also, and (2) as, is

(3) he, his (4) brave, intelligent

Choose the correct option to identify the tense of the underlined words.
The train has started before I reached the station.

(1) past perfect (2) present perfect

(3) present continuous (4) simple past

SPACE FOR ROUGH WORK
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10. Choose the correct alternative from the following to complete the puzzle for

the meaningful words.

C|H|E]|?

~D
~ | Z >

(1) a 2) o ) e 4) i

Instruction for question no. 11 and 12.
Read the passage and choose the correct alternative.

When they arrived at the seaside, out jumped all the children with a
shout of joy. Down to the sands they raced, hand in hand - but Nobody took
Hari's hand. Nobody went near him.

Hari was angry. He went to a sandy corner near a rocky pool and sat
down by himself. He took out his lunch and looked at it. It was a good
lunch. There were two hard-boiled eggs, six jam sandwiches, three pieces of
bread and butter, a ginger cake, and a bar of chocolate. He would eat it all

by himself. He wouldn't offer anything to anyone!

11.  Complete the web by choosing 2 correct options.

Cake
i
? Hari’s Lunch eggs

v

?
(1) bread and butter (2) juice
(3) biscuits (4) bar of chocolate

12. How was the pool?

(1) sandy (2) narrow (3) deep (4) rocky

SPACE FOR ROUGH WORK
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13.

14.

15.

16.

17.

Choose the correct option for the underlined part of the following.
Charuta wants to decorate her bungalow. For that purpose, she visited a person
who is master in beautifies the inside of a house.

(1) building contractor (2) merchant
(3) sailor (4) interior decorator

Read the sentence and recognize its type by choosing the correct option.
Bind up the wound with a bandage.

(1) Exclamatory Sentence (2) Imperative Sentence
(3) Interrogative Sentence (4) Assertive Sentence

Fill in the blank by choosing the correct option for the correct conjunction.

He worked hard to sell the wood in the morning grains in the evening.
(1) because (2) so (3) and (4) since
Choose the correct alternative to complete the following set of words.
<D P| T|H|]L]| P|S

AU S| C| A|T]|Q

P| HNWNHRR | T| O] S

LI M||ENANE | P I

B| AJ||E|]|] C NL[NY | Z

S [ T|| K [|A \I> G

A| B ||[S|| E |[|[M|| H| YV

A|lO| C| R|P|]|IW]|P

S| T| M| S| Q| N|P
(1) decoration (2) relatives (3) crackers (4) cloths
Select one correct option for the underlined word to make it opposite of it.
If you do not wake up early in the morning, you are for school.
(1) late (2) early (3) perfect (4) in

SPACE FOR ROUGH WORK
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18.  Choose the correct alternative that shows the correct meaning of the underlined

words.

They received the president of the college with open arms.

(1) with someone's presence (2) with excellent work
(3) with fear (4) with warm welcome

Instruction for Q. 19, Q. 20 and Q. 21 -
Read the passage and choose the correct alternative.

Many years ago, at the foothills of the kaatskill (kat-skill) mountains,
was a little village. In the village lived a simple, good-natured fellow named
Rip Van Winkle. He was a kind neighbour, ready to help anyone. Everyone in
the village liked him. The children of the village shouted with joy whenever
they saw him because he played with them, he taught them to fly kites and
shoot marbles and told them long stories.

The only problem with Rip was that he was very lazy. He did no work
on his own farm and just idled away his time. His fences were falling to
pieces. His cow was going astray. Weeds grew on his farm. Rip's constant
companion was his dog, named Wolf. To avoid work, he would walk away
into the forest with his dog.

19. What did Rip Van Winkle teach to the children? (Choose any 2 answers)

(1) to write poems (2) to fly kites

(3) to tell stories (4) to shoot marbles
20.  Who was wolf ?

(1) boy (2) wolf (3) dog (4) wvillager
21.  Match the pairs.

A B

1) fences a) going astray

2) cow b) falling to pieces

3) weeds c) mountains

4)  kaatskill d) grow on farms

(1) 1-b; 2-a; 3-d; 4-c (2) 1-c; 2-d; 3-a; 4-b

(3) 1-d; 2-a; 3-b; 4-c (4) 1-a; 2-b; 3-c; 4-d

SPACE FOR ROUGH WORK
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22,

23.

24.

25.

Read the following pairs of homophones and find out a pair which is not a
homophone. Choose any one correct option.

(1) Steel - still (2) though - thought

(3) main - mane (4) right - write

Observe the following website and choose the correct option for the given
question.

WEWTZ WEA  Government of Maharashtra SKIP TO MAIN CONTENT aQa & A ENGLISH

) s e
. NASHIK DISTRICT a Ditondo

HOME ABOUT DISTRICTY ~ CORONA VIRUS-COVID19 DIRECTORY YV  DEPARTMENTY  TOURISM v DOCUMENTS v NOTICES v == MORE

HOME / DIRECTORY / PUBLIC UTILITIES / UNIVERSITIES / Maharashtra University of Health Science (MUHS)

Maharashtra Qnivgrsity of He.alth. Scienge (MUHS)
What is the above website about?
(1) Social Science (2) Mathematical Science
(3) Environmental Science (4) Health Science
Choose the correct option for the indirect speech.
The mouse shouted,"Let me go".
(1) The mouse shouted that to let him go.
(2) The mouse shouted to let him go.
(3) I shouted to let mouse go.
(4) The mouse shouted that let me go.
Find the meaningful word from the following jumbled letters.
EATRTHE
(1) EARTHE (2) THROWING (3) THIEF (4) THEATRE

SPACE FOR ROUGH WORK
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ABCDE FGHIJ KLMNO PQRST UVWXY

SECTION - 11

INTELLIGENCE TEST
Directions Q. 26 to 28.

Identify the rhythmic arrangement of terms given below and find the correct
term in place of the question mark.

26. NDENZDZDBDNRRNND
(C) V| 7N (2) BN 3) MEK 4 MBEH

27. mnnsem?senmsen?m?nns
(1) nen 2) nme 3) nne 4) esn

28. 52192417459249221721745
1) 725 2 275 3) 572 4 752

29.  Health is wealth means  [Choose two correct options from the following.]
(1) Good health is the real wealth.
(2) Good health is equally important as wealth.
(3) Health and wealth are dependent on each other.
(4) Good health is enjoyed only by rich people.

30.  The ratio of the present ages of Aashish and Aditya is 4:7. Eight years hence,
the ratio of their ages will be 2:3. Find Aditya's age five years ago.

(1) 28 years (2) 19 years (3) 23 years (4) 11 years

31.  Ishan told Aradhya “You are the daughter of my mother's sister-in-law.” How
is Aradhya related to Ishan's father?

(1) daughter (2) cousin (3) niece (4) Maternal aunt

SPACE FOR ROUGH WORK
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ABCDE FGHIJ KLMNO PQRST UVWXY

fawm - 11
gefemear aravit

I9T 26 o 28 WISl HEAT -
fooiea TEeqy Oieviididl U shH Q&d O3 SRATR-gredl W AU e
RIRIGCERECCIN

26. DNDENDDPOEANZDPND ‘
1) PN 2) BN (3) mEM ORn== e

27. mnnsem?senmsen?m?nns
(1) nen (2) nme (3) nne (4) esn

2. 521 ? 41745 7?24 7?21721745
(1) 725 (2) 275 (3) 572 4) 1752

29. ‘v @ Urfiad Aedsdrdd Oqud el A1 STl JTURREd e
I M@l (M s W fHEen)
(1) == 2o (2) % g (3) AW WEw  (4) WA B

30.  oifsy 3 omfecy A=Al TSR AU TUIRK 4:7 R, 8§ INH@ oiedl Su
TR 2:3 BEd, @ Ao wie auigdta 99 fohdt e
(1) 28 =¥ 2) 19 @y (3) 23 a¥ 4) 11 av

3. goH AT TEUNEN, | WAl STSedl AvH! Herll Ie® . @ STNEA
TSI ASATET ohIoT ?
(1) "ot (2) gavft (3) wr=t (4) wrasft

el HIHTHTS! Wokd
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32.  In the following number series find the odd term.
2, 3, 6, 10, 18, 27, 54, 81, 162
(1) 54 (2) 10 (3) 162 (4) 242

33.  Ninad walked 5m. East. Then he walked 2.25m. North. Then he turned to his
right, in right angle and walked 5m. Now what will be the minimum distance
from the original position?

(1) 1025 m ) 10.50 m (3) 925 m 4) 12.50 m

34.  Choose the correct alternative to complete the question figure.

Question Figure Answer Figures
™
] / - ) ]
(1) (2) 3) (4)

35. In a Zoo, no animal is having any physical disability. Total number of legs of
deers and ducks together is 52 and the total number of heads taken together
is 19. Find the number of ducks in the Zoo.

(1 7 (2) 14 3) 10 4 12

SPACE FOR ROUGH WORK
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ABCDE FGHIJ KLMNO PQRST UVWXY

32. @i dEamIfashdld el 98 ATl
2, 3, 6, 10, 18, 27, 54, 81, 162
(1) 54 @) 10 3) 162 @) 242

33.  fe q@ag 5 w=merd Ao, faem T Scatshe 2.25T wetelr. 9Y At Iodihs
HIehHd dgd SH =T, W Hod TSR = &ld wH T fohd?
(1) 10.254 (2) 10.50+t
3) 9.25t @) 12.50t

34. @l yeRdl QU HoIEEET A qEwE HesT.

Ty TRl Iea’ SATHAT
TN
N J - - N
(1) (2) 3) 4)

35.  uawl iR dd WOt 3TeIT 3d gNU 9 g AT UREl HEd 52
9 TR 9@ 19 AR, W GUSIGATA dehl TedT fohdl 318 ?
1y 7 Q) 14 3) 10 @) 12

el HIHTHTS! Wokd
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ABCDE FGHIJ KLMNO PQRST UVWXY

Directions Q. 36 and 37.

The number of players playing different games in a school are given in the
following Venn diagram. Observe the figure and choose the correct alternative
to answer the questions that follow.

/ ) 8 Chess Players
5
Cricket Players —s» S| 4
3
/ 10 <— Hockey Players

36. How many players play indoor games?
(1) 8 2) 19 3) 18 4) 13

37. By What percentage the number of players playing only chess is more than
the number of players playing all the three games.

(1) 60% (2) 40% 3) 75% 4) 160%
Directions Q. 38 and 39.

Identify the water reflection of the question figure from the given alternatives.

38.  Question Figure Answer Figures
(M 2) 3) “

SPACE FOR ROUGH WORK
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ABCDE FGHIJ KLMNO PQRST UVWXY

T 36 T 37 WSt gEAT -
Glelid o 3Tehdld Tehl Wbdlal Wolge! e fooiell 3R, &= Fie wed
N Wiefld JEE el W e

e 1 ° EEDECIREC Y

fShehe @osumt —>

<«— Bihl WBIR

10

36. 93 Wa WU THU fohdl WAG 3TMRd ?
(1) 8 2) 19 (3) 18 4) 13

37. wH IEUTe WRUE HEA dHel We WUl Walgedl sl fohdH
SR 3R ?
(1) 60% (2) 40% 3) 75% 4) 160%

T3 38 9 39 wWret g -

DPDDBE

el HIHTHTS! Wokd
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ABCDE FGHIJ KLMNO PQRST UVWXY

39.  Question Figure

ATN

v (e el b
(D) ) 3) (4)
Directions Q. 40 to 44.

In each of the following questions relation between the third and the fourth

term 1s the same as that between the first and the second term. Find the term
to replace the question mark.

40. 23 : 49 : : 41 : ? (Select two correct alternatives)
(1) 161 (2) 125 3) 85 4) 92

41.  Gold : Au : : Silver : ?
(1) Ag 2) Al (3) Fe (4) Cu

42.  Mango : Fruit : : Ginger : ?
(1) Leaf (2) Root (3) Stem (4) Vegetable

SPACE FOR ROUGH WORK
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ABCDE FGHIJ KLMNO PQRST UVWXY

39.  uya sl

ATN

Sl ATh AT
v bl o
(1) (2) 3) 4)

9T 40 d 44 W& gEAT -

Ul UGN gHSN YGRSl §eY g a9ra Hed fdu=n ugeEn =ied uarRf

AR, B UM UST UErgr=A S IO qAE S

40. 23 : 49 : : 41 : ? (A o Em W =)
(1) 161 (2) 125 (3) 85 4) 92

41. g9 @ Au: : =€ : ?
(1) Ag 2) Al (3) Fe 4) Cu

42. ggq : 99 : : WS ;7
(1) 34 (2) T (3) g (4) fIRE

el HIHTHTS! Wokd
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ABCDE FGHIJ KLMNO PQRST UVWXY

43.

o o
S A (e G
QCy QCy goy Qo;
o A o | o | A Al ®

(0 2) (3) @)

44. DH : N :: BF : ? (Choose two correct alternatives)
(1 I (2) R 3) W (CO

Directions Q. 45 and 46.

In a certain code language the word HAD is written as 532, SHE is written as

145 and DIE is written as 391.

45.  How will you write the word HIS in the same code language?
(1) 354 (2) 294 (3) 59%4 (4) 539

46.  Which of the following word will be formed by the code 42937

(1) DEAD (2) HEAD (3) PAID (4) SAID

47.  In a certain code language COT is written as ELV, SUN is written

How will you write the word PIG in the same code language?

as URP.

(1) RFI (2) RHI (3) RGI (4) QJH

SPACE FOR ROUGH WORK
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ABCDE FGHIJ KLMNO PQRST UVWXY

43.
AN
R o o &‘.‘ . ()
o e o **y ° o
* 00
o O
ocy ocy ocy Q“
o | A ° | 5 ® A AN
(1) 2) 3) )
44. DH :N::BF:? (34 3= W Fae)
(1) 1 2 R 3) W @

T3 45 T 46 |ET GEAT -
ThT Hiehideh WINA B0W & Ve 7458, Ifad & Wee 3786 3T ‘Tfi@ &
wee 5826 @1 fafga ow.....

45. T’ =1 vreern gaTTef Wee Wiofieiiehl hivedT Hiehideh 3ThiHT aRiadl Isd ?
(1) 683 Q) 745 (3) 685 4) 785

46. 2785 W Wehfdeh STRMET TIR BIUTRT I6G IV ?
(1) =& (2) T (3) @R (4) R

47.  uam "ihfde WWd COT o ELV 3@ fafgad, SUN o URP =@ fafgam,
T PIG & ¥ w1 foAgen?
(1) RFI (2) RHI
(3) RGI (4) QJH

el HIHTHTS! Wokd
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ABCDE FGHIJ KLMNO PQRST UVWXY

48.  Identify the correct mirror image of the question figure from the alternatives given.
Question Figure

Answer Figures

(1) (2) (3) (4)

49.  The paper as shown in the question figure is folded and shaded region is cut
as shown in the question figure. How will the figure look like when the paper
is unfolded. Choose the correct option.

Question Figure

Answer Figures

(1) (2) 3)

SPACE FOR ROUGH WORK

4
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ABCDE FGHIJ KLMNO PQRST UVWXY

48.  @refld ywTRdl SR SiaH wErEq et

IO AT

Saa@

(1) 2) (4)
49.  @refld TETERddT SATETE B! UTed SIhd heledl [N g IaoSea™
T JRhR VAT qATATde  AThdar@r fe8e ?

TeA AT

I ATHAT
(1) 2) 3) (4)

HeIT HIHTHTST TWord
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50.  In a certain year, Environment Day falls on Friday. Then on which day Children's
Day will fall in the same year?

(1) Monday (2) Sunday (3) Thursday (4) Saturday

SI. In the following number series, how many times two prime numbers follow
each other consequently?
3574263794253249756209
(1 8 (2) 6 3) 7 4 3

52.  In the given alphabet series to get the word opposite in meaning of the word
‘beautiful’, which will be the correct order of numbers?

(1) 21, 10, 25, 12 (2) 21, 7, 11, 25
(3) 21, 7, 12, 25 4) 12, 21, 8, 25

Directions Q. 53 to 57.
Find the odd term.

53. (1) talented (2) dull (3) intelligent (4) bright
54. (1) Potato (2) Ginger
(3) Elephant foot (4) Sweet Potato
55. (1) 289 (2) 143 (3) 221 4) 187
56. (1) Suw (2) BCE (3) MQS (4) EGK
57.
(1) (2) 3) 4)

SPACE FOR ROUGH WORK
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S0.  gyfewer fed  IphAl TG I ANidid STelieATEl aR ShivTdT  3THd ¢
(1) EwER (2) Taar
(3) TEAR (4) wfHaR

Sl wTefie SfhdTeld TFTa=Al Qe Hosu@dl 3Ted 38 fohedl dedl oal MR ? 4
STHATAT - 3, 5, 7, 4, 2, 6, 3, 7, 9, 4, 2, 5, 3, 2, 4, 9, 7, 5, :<>:

6, 2, 9

(1 8 (2) 6 (3) 7 4 5 e

52.  utqeh, UseWm, U, Ueleh, UM, WNE, U< ¥ YeG VIR AEedTd
TRl YU 3ree <hivrar ?
(1) dfures (2) YT (3) WRE (4) U

I9T 53 @ 57 @it guAl -
A 9 JHUR e INSEl.

53. (1) w=h 2) % (3) el 4) g
5. (1) e 2) 3) T 4) W
5. (1) 289 (2) 143 (3) 221 (4) 187
56. (1) SUW (2) BCE (3) MQS (4) EGK
57.

(1) 2) (3) (4)

el HIHTHTS! Wokd
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58.  Find out the rule underlying the arrangement of numbers in the following
question and choose the correct alternative that will replace the question mark.

/o)

715 318 6 | ?

(1) 4 2 1 3) 3 4) 2

59.  Observe the numbers given in the following square and choose the correct
alternative to replace the question mark. [Choose two correct alternatives]

35 [ 28 | 13
171 2 |52
62 | 43 | 22

(1) 73 2) 85 3) 8 ) 10

60.  Find the hidden part of the question figure from the alternatives given.
Question Figure

Answer Figures

5 ES

(M 2) 3) (4)

SPACE FOR ROUGH WORK
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58. wrlld g gvHfagr=ar Srfl Aut @I SHIvrdt ?

APNYARNYARN

(1 4 2 1 3) 3 4) 2

59. grehe W SeAREET SE S den #eE? (39 sew v fee)
35|28 | 13
17 | ? | 52
62 | 43 | 22

(1 73 2) 85 3) 8 @) 10

60. yyTRdld AUl ARdl qAEG S

T TRl
|
Ieal ATHAT
b +
(1) 2 ) (4)

el HIHTHTS! Wokd
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Directions : Q. 61 to 65.

In the following series determine the rule underlying the series and find out the
term in place of the question mark.

6l. 6 6,9 18, 45, ?
(1) 90 (2) 145 (3) 125 (4) 135

62. 3 8 15, 26, 43, 68, 103, ?
(1) 150 (2) 120 (3) 206 4) 152

63. OXAO+ XOAD+, XAOO+, 2
(1) XAO+O (2) XADOO+ (3) O+XAO (4 AXOD+

64. YX, WU, TQ, PL, ?
(1) KE (2) LE (3) JE (4) KF

(x
N
<
N

65.

s
N
/(
N

ALY

Ko/

.
2

a N
(Uy (2) 3) (4)/

66. In a queue Vihan is at 23™ position from left and Sonal is at 15™ position
from right. There are four boys between them. Find total number of children
in the queue. [Choose two correct alternatives.]

(1) 41 2) 31 3) 32 4) 42

SPACE FOR ROUGH WORK
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ABCDE FGHIJ KLMNO PQRST UVWXY
. 61 @ 65 WS TIAT -
QTefid HifcThdIal  JeAI-grea S JUM=T Ugren 3T 9o Hast.
6l. ¢ 6, 9, 18, 45, 7
(1) 90 2) 145 3) 125 @) 135
62. 3 8, 15, 26, 43, 68, 103, ?
(1) 150 @) 120 3) 206 @) 152
63. OXADO+, XOAO+, XAOO+, ?
() XAO+O (2) XAOO+ (@) O+XAO (4) AXOO+
64. YX, WU, TQ, PL, ?
(1) KE (2) LE (3) JE (4) KF
65.

N (o
AAYARWARTOA
NI AN AN Y

(D (2) 3) 4
66.

Ul TAIA TR SEiehgd 2391 9 HHET I9aihgd 15dT TR TR, qrara

(4)

42

0122-Marathi Set-A

25 0f 32

P.T.O.

IO
DIQ
IO
DIQ

DIQ
DIQ
e



ABCDE FGHIJ KLMNO PQRST UVWXY

Directions: Q. 67 and 68.

Choose the correct figure from the alternatives given that exactly matches with
the question figure.

67.  Question Figure

-

Answer Figures

25 Q5] S5 |(EE

(1) 2) 3) (4)
68.  Question Figure

G

o o (5
i
(1) 2) (3) 4)

SPACE FOR ROUGH WORK
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ABCDE FGHIJ

KLMNO

PQRST

UVWXY

9T 67 I 68 WS HIAT:
Grefld  TRAThdR datad
67.  wya eTreRd

SCMIICIE I BRECE

S AR
1)
(1) (2) 3) 4)

el HIHTHTS! Wokd
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69. At which position from right, will be the letter, which is at equal distance
from the letters I and U; in the given alphabet series.

(1) 11" Position (2) 12t Position (3) 10™ Position (4) 8t Position

70 In the given alphabet series first and third groups are interchanged, similarly
fifth and second groups are interchanged and a new Alphabet series is formed.
Then which letter will be at the middle position between the letters Q and M
in the new Alphabet series?

() O 2 A G X 4 Y

Directions Q. 71 and 72.

A wooden cube is painted red on the opposite two surfaces, green on the other
two opposite surfaces and blue on the remaining opposite surfaces. The wooden
block is cut on all the faces thrice at equal distance. Then

71.  How many cubes have only two colours red and blue?
(1) 8 2) 12 3) 10 4) 4

72.  How many cubes have only one face painted?
(1) 36 2) 12 (3) 24 4 30

Directions Q. 73 to 75.

Observe the following pyramid of numbers and choose the correct alternative
that will replace the question mark in the questions that follow.
15
27 22
19 34 17
25 12 31 33
28 32 37 26 21
14 18 23 39 13 36
20 38 29 16 35 24 30

SPACE FOR ROUGH WORK
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69. gl [ ST U o1 SIUEd §9H SFaUelial &R ¥ 3Sdlehed  fehded
SHHTERIE 3T 7
(1) 11 =m0 @) 12 =m 3) 10 =1 4) 8 =

70 seEmrediel ufeean @ fE=n TR HQAEEA hell, UREAT d gHEAT TR
ACATIEA e TIR BT T4 FATMd Q d M I AT gTIH
AT IR & <hI0Td ?

(1) O Q) A 3) X @ Y

T. 71 F 72 A&t AT -
T ATRS! T IhB] UHA Al GHE TRUNR A, fewer, et ammm
T T oA ST @ SrhedTal FE USSR HHH SR dF Y HAS ...

7. T 9 31 3 399 W 3@ fohdl 3lhes IR Bl ?
1) 8 Q) 12 3) 10 4) 4

72.  wFq U Nl U1 AN fhdl B9 3hes AR B ?
1) 36 Q) 12 3) 24 @) 30

. 73 9 75 @IS gEAT -

@rcfiad g e shed ITdid 3ThT=aT HiSUiiaed  Yefemaredl SR AU

I Wi Hasl.

15
27 22
19 34 17
25 12 31 33
28 32 37 26 21
14 18 23 39 13 36
20 38 29 16 35 24 30

el HIHTHTS! Wokd
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73. 25321237 : 33263137 : : 38182923 : 2
(1) 24133916 (2) 24133539 (3) 30362413 (4) 39351324

74. 28, 20, 38, 32, 37, 29, 16, 26, 2, ?
(1) 13, 35 (2) 35, 21 (3) 24, 30 4) 21, 35

75. Choose two correct alternatives for the following question.
271912 : 311722 : : 281438 : ?
(1) 322329 (2) 243621 (3) 292332 (4) 373916

SPACE FOR ROUGH WORK
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73. 25321237 : 33263137 : : 38182923 : ?
(1) 24133916 (2) 24133539 (3) 30362413 (4) 39351324

74.  wa=E Aheer e gwefegem ST HEM IO G@AT HI0M ?
28, 20, 38, 32, 37, 29, 16, 26, 7, °?
1y 13, 35 2) 35, 21 3) 24, 30 @) 21, 35

75, Fd TERIEE YR S AW T Ae@l. (G I Wi Hae)
271912 : 311722 :: 281438 : 7
(1) 322329 2) 243621 (3) 292332 4) 373916

el HIHTHTS! Wokd
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